*** Super Build MC1 - *xk 231-304880 [ 1 2011/06/05 16:10 PAGE- 1

2011/06/03 18:00:10

=0.02 x C
1.00
F10T To 500 F 900 [N/mm2] 1
F [N/mm2] E [kN/mm2]
To [N/mm2] oy @iIs 1.1F) [N/mm2]
fc [N/mm2] oc [N/mm2]
fb [N/mm2] ob [N/mm2]
A [mm2]
bA [mm2] gt [mm]
bz [mm3] gBe [mm]
bl [mm4] gA [mm2]
iy [mm] 9z [mm?]
i* 1/6 [mm]
L [mm] Lb [mm]
Ib fb [mm] nX [-]
1k fc [mm] ny [-]
el [mm] PL [mm]
e2 [mm] PC [mm]
h [mm] R [kN]
Rn [kN
M [kNmm] Rq [kN
Fp [kN] RX,Ry [kN
C [KN]
k [kN/mm]
Q [KN] ri i [mm
Mo [kNm] fA mm?2]
M [KNmm] fFst [N/mm2]
No. 1 [ - 25]
- 400x 200x 8.0x13.0x 13 F= 235(SS400)
Lb 3200 A 8337 ‘ il
- 250x 125x 6.0x 9.0x 8 F= 235(SS400) + +
L 4500 1b 4500 bA 3696 l+ +|
el 190.0 Ik 4500 bl 3964.6x10° iy 28.1
h 0.0 Ik 4500 bz 317.1x10°  *i 32.9
<GUSSET> < > < >
gt 6.0 M16 Q 14.20 kN
gBe 270.0 2 PL 80 Mo 16.00 kNm
F= 235(55400) 2 PC 80 el = 190.0 e2 = 275.0
M =Qel+Fpe2-= 14.20 * 190.0 + 19.59 * 275.0 = 8085.83 kNmm
Fp = 0.02 C = 0.02 * 979.60 = 19.59 kN
C =oy A/2 = 23.0 * 8337 /2= 979605 N - 979.60 kN
< > k 5.0 C/Lb

5.0 C/Lb = 5.0 * 979.60 / 3200.0 = 1.530 kN/mm

k = 3E bA bl/L/(bA e2%+3bl)
=3 * 205.0 * 3696 *  3964.6x 104 / 4500 / (3696 * 275.0%2 + 3 * 3964.6x104 ) = 50.263 1.530 0K

< > R fFst fA

fFst fA = 225.0 * 201 = 45238 N - 45.23 kN

Rn=Fp/n= 1959/ 4 = 4.89 kN

Rg=Q /n= 1420/ 4 = 3.55 kN

Rx = Mym / Xri? = 8085.83 * 40.00 / 12800 = 25.26 kN

Ry = M xm / >ri2 = 8085.83 * 40.00 / 12800 = 25.26 kN

R=+ (Rx +Rn)2+ (Ry +Rq)2 =+ ( 25.26 + 4.89)2 + ( 25.26 + 3.55)2 = 41.71 45.23 0K
<GUSSET>

ob / gft = (M / gZ) / gft = ( 8085.83x10° / 72900.0 ) / 235.0 = 0.471 1.00 0K

< > Ac = 159.7 fc = 54.9 fb = 133.5
M=M /2 = 4042.91 kNmm
oc = Fp / bA = 19.59x10% / 3696 = 5.29
ob =M+ M) /bZ=( 16.00x10% + 4042.91x10%) / 317.1x10% = 63.19
oc / fc + ob / fb = 5.29/ 54.9 + 63.19 / 133.5 = 0.569 1.00 OK

< > F10T To = 500 [N/mm2] 1

900  [N/mm2]




*** Super Build MC1 -

*x 231-304880 [ ]

2011/06/05 16:10 PAGE-

2

No.

Lb
L

2 [261-SB40]

- 700x 250x1
1000

- 400x 200x
1000 Ib

2.0x19.0x 18
A

8.0x13.0x 13
1000  bA

772

1
F= 235(SS400)
337

F= 325(SM490)
2

h
<GUSSET>
gt 9.0
gBe 290.0
F= 235(SS

el 175.0

Ik
Ik

<

1000 bl
0.0 1000 bz
M20

400)

>

1
4 PC 70

23456.6 % 10*
1172.8x10°
<

Q
Mo

++++‘

iy 45.6
*i 52.8

>
65.20 kN
0.00 kNm

el = 175.0

e2 = 500.0

M Qe
Fp = 0.0
C oy

< >

k 3E

3 *

fFst fA
Rn = Fp
Rq = Q
Rx
Ry

M X

1+
2

Fp e2 65.20 *
C

Al 2 325.0 *
k 5.0 C/Lb

bA bI/L/(bA €2%+3bl)
205.0 * 8337 *

> R fFst fA
225.0 * 314
57.59 / 4
65.20 / 4
>ri? = 40208.4 *
>ri? = 40208.4 *

/
/

m

= 0.02 * 2879.84

5.0 C/Lb = 5.0 * 2879.84 / 1000.0 =

1

175.0 + 5

nn~

17722 1 2

23456.6x 104 / 1000 / (

70685 N -

14.39 kN

16.30 kN
05.00 / 24500
0.00 / 24500

.59 *

500.0 =
57.59 kN
2879845 N

40208.45 kNmm
-~ 2879.84 kN

14.399 kN/mm

8337 * 500.0% + 3 * 23456.6x 104 ) = 431.386

70.68 kN

172.32 kN
0.00 kN

R =

<GUSSET>
ob

®

~

M
Fp
(Mo
fc

oc
ob
oc

Noonn

n
n
M ym /
/
¥

X + Rn)2 + (Ry + Rg)?

20104.22 kNmm
57.59x 103 /

) / bZ = (

7 fb =

/
/

onN Vv

A

=111

"
+ ob

(172.32 +

gft = (M / gZ) / gft = (40208.45x10% / 126150.0 ) / 235.0 =
AC =

21.9 fc

8337 =

6.
0.00x 106 + 20104.22x10%) / 1172.8%10% =

6.90 / 228.4 + 17.

14.39)2 + ( 0.00 + 16.30)2 = 187.43 70.68

1.356 1.00 NG

= 228.4 fb = 235.0 fb=ft

90
17.14
1.00 OK

14 / 235.0 = 0.103

14.399

NG

0K

< > F10T To = 500
fb=ft F = 900

[N/mm?2]
[N/mm2]

1

No.
Lb

L 45
el 1
h
<GUSSET>
gt 6.0
gBe 270.0
F= 235(SS

3 -
- 400x 200x
200

25]

- 250x 125x
00 Ib
90.0 Ik
0.0 Ik

<

4500
4500
4500

bA
bl
bz

>
M16

400)

8.0x13.0x 13
A

6.0x 9.0x 8

1
2 PC 80

3696
3964.6 x 10*
317.1%10°
<

Q
Mo

F= 235(S5400)
337
F= 235(S5400)

4]

iy 28.1
*I 32.9
>
14.20 kN
16.00 KNm

el = 190.0 e2

= 275.0

M Qe
Fp = 0.0

C oy
< >

5.0 C/Lb

k 3E
3*

fFst fA
Rn = Fp
Rg = Q
Rx
Ry

M X

1+ Fpe2
2 C
Al 2

k

=50 *
bA bI/L/(bA e22+3bl)
205.0 * 3696 *

> R fFst A
225.0 * 201
9.7/ 2
14.20 / 2
>ri? = 5391.91 *
>ri? = 5391.91 *

14.20
0.02
235.0

.0 C/Lb

*
*
*

[$2]

/
/

m

979.60 / 3200.0 =

979.60
8337 / 2

190.0 + 9.79 *

3964.6x 104 / 4500 / (

45238 N -
4.89 kN
7.10 kN

40.00 / 3200
0.00

275.0 =
19.59 kN -
979605 N -

5391.91 kNmm
9.79 kN
979.60 kN

1.530 kN/mm

3696 * 275.0% + 3 * 3964.6x10% ) = 50.263

45.23 kN

67.39 kN
0.00 kN

R =

<GUSSET>
ob /

®

M=M
oc = Fp
ob = (Mo
oc / fc

n
n
M ym /
/
T

X + Rn)2 + (Ry + Rq)?

2695.95 kNmm
9.79%103 /

oN VvV

/
/ bA

=11

+

+ ob / fb =

0
00 / 3200
( 67.39 +

gft = (M / gZ) / gft = ( 5391.91x103 /
AC =

159.7 fc

3696 = 2.
) / bZ = ( 16.00%x106 +
7 2.64 / 54.9 +

2695.95x10%) /
58.

0.00 +

4.89)2 + ( 7.10)2 72.64 45.23

72900.0 ) / 235.0 =
= 54.9 fb = 133.5

0.314 1.00 0K

64
317.1x 108 =
0.489

58.94

94 / 133.5 = 1.00 OK

1.530

NG

0K

< > F10T To 500

900

[N/mm2]
[N/mm? ]

1




*** Super Build MC1 - **% 231-304880 [ 1 2011/06/05 16:10 PAGE- 3
No. 4 [2G1-SB40]
- 700x 250x12.0x19.0x 18 F= 325(SM490)
Lb 1000 A 17722 e T
- 400x 200x 8.0x13.0x 13 F= 235(SS400) + +
L 1000 Ib 1000 bA 337 1 1
el 175.0 1k 1000 bl 23456.6%10° iy 45.6
h 0.0 Ik 1000 bz 1172.8x10° *i 52.8
<GUSSET> < > < >
gt 9.0 M20 Q 65.20 kN
gBe 290.0 1 Mo 0.00 kNm
F= 235(SS400) 4 PC 70 el = 175.0 e2 = 500.0
M =Qel +Fpe2-= 65.20 * 175.0 + 28.79 * 500.0 = 25809.22 kNmm
Fp = 0.02 C = 0.02 * 2879.84 = 57.59 kN - 28.79 kN
C =oy A/ 2 = 325.0 * 17722 /2 = 2879845 N - 2879.84 kN
< > k 5.0 C/Lb
5.0 C/Lb = 5.0 * 2879.84 / 1000.0 = 14.399 kN/mm
k = 3E bA bl/L/(bA e22+3bl)
=3 *205.0 * 8337 * 23456.6x 104 / 1000 / ( 8337 * 500.0% + 3 * 23456.6x10% ) = 431.386 14.399 0K
< > R fFst fA
fFst fA = 225.0 * 314 = 70685 N - 70.68 kN
Rn=Fp/n= 2879/ 4 = 7.19 kN
Rg=Q /n= 65.20/ 4 = 16.30 kN
Rx = M ym / Zri2 = 25809.2 * 105.00 / 24500 = 110.61 kN
Ry = M xm / >ri? = 25809.2 * 0.00 / 24500 = 0.00 kN
R =4 (Rx + Rn)2 + (Ry + Rq)? = 4 ( 110.61 + 7.19)2 + ( 0.00 + 16.30)2 = 118.93 70.68 NG
<GUSSET>
ob / gft = (M / gZ) / gft = (25809.22x10% / 126150.0 ) / 235.0 = 0.870 1.00 OK
< > Ac = 21.9 fc = 228.4 fb = 235.0 fb=Fft
M=M /2 =12904.61 kNmm
oc =Fp / bA = 28.79x10% / 8337 = 3.45
ob =Moo+ M) /bZ=( 0.00x108 + 12904.61%103) / 1172.8%x10% = 11.00
oc / fc + ob / fb = 3.45 / 228.4 + 11.00 / 235.0 = 0.061 1.00 OK
< > F10T To = 500  [N/mm2]
fb=ft F = 900 [N/mm2]
< > | < > <GUSSET> < >
k 5C/Lb R fFst fa ob/gft oc/fc + ob/fb
No. 1[ - 25] 0.096 + 0.473
- 400x 200x 8.0x13.0x 13 F= 235(SS400) M = 8085.83 | k= 50.263 | R= 41.71 0.471 = 0.569
- 250x 125x 6.0x 9.0x 8 F= 235(SS400) Fp= 19.59 1.530 45.23 1.00 1.00
GUSSET: 6.0x270.0 BOLT:M16 2x 2 (F10T) C= 979.60
No. 2 [2G1-SB40] 0.030 + 0.072
- 700x 250x12.0x19.0x 18 F= 325(SM490) M = 40208.45 | k= 431.386 | R= 187.43 1.356 = 0.103
- 400x 200x 8.0x13.0x 13 F= 235(SS400) Fp= 57.59 14.399 70.68 1.00 1.00
GUSSET: 9.0x290.0 BOLT:M20 1x 4 (F10T) C = 2879.84
No. 3 [ - 25] 0.048 + 0.441
- 400x 200x 8.0x13.0x 13 F= 235(SS400) M= 5391.91 | k= 50.263 | R= 72.64 0.314 = 0.489
- 250x 125x 6.0x 9.0x 8 F= 235(SS400) Fp= 9.79 1.530 45.23 1.00 1.00
GUSSET: 6.0x270.0 BOLT:M16 1x 2 (F10T) C= 979.60
No. 4 [2G1-SB40] 0.015 + 0.046
- 700x 250x12.0x19.0x 18 F= 325(SM490) M = 25809.22 | k= 431.386 | R= 118.93 0.870 = 0.061
- 400x 200x 8.0x13.0x 13 F= 235(SS400) Fp= 28.79 14.399 70.68 1.00 1.00
GUSSET: 9.0x290.0 BOLT:M20 1x 4 (F10T) C = 2879.84




